
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 64 : 2 = 32 2) 84 : 2 = 42

3) 96 : 2 = 48 4) 52 : 8 = 6 r4

5) 90 : 2 = 45 6) 41 : 6 = 6 r5

7) 31 : 3 = 10 r1 8) 32 : 3 = 10 r2

9) 62 : 2 = 31 10) 61 : 8 = 7 r5

11) 50 : 2 = 25 12) 35 : 3 = 11 r2

1. 32

2. 42

3. 48

4. 6 r4

5. 45

6. 6 r5

7. 10 r1

8. 10 r2

9. 31

10. 7 r5

11. 25

12. 11 r2

     

Risolvi ogni operazione.

Divisione di un numero intero

Matematica www.CommonCoreSheets.it

Nome:

Risposte



1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 64 : 2 = 32 2) 84 : 2 = 42

3) 96 : 2 = 48 4) 52 : 8 = 6 r4

5) 90 : 2 = 45 6) 41 : 6 = 6 r5

7) 31 : 3 = 10 r1 8) 32 : 3 = 10 r2

9) 62 : 2 = 31 10) 61 : 8 = 7 r5

11) 50 : 2 = 25 12) 35 : 3 = 11 r2

1. 32

2. 42

3. 48

4. 6 r4

5. 45

6. 6 r5

7. 10 r1

8. 10 r2

9. 31

10. 7 r5

11. 25

12. 11 r2

     

Risolvi ogni operazione.

Divisione di un numero intero

Matematica www.CommonCoreSheets.it

Nome:

Risposte

Soluzioni


	Worksheet
	Soluzioni

